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LSE-06 

BACHELOR OF SCIENCE (B. Sc.) 
Term-End Examination 

June, 2019 

(LIFE SCIENCE) 

LSE-06 : DEVELOPMENTAL BIOLOGY 

Time: 2 Hours 	 Maximum Marks : 50 

Note : Answer Part I and Part II in separate answer 

copies. Answer the questions as per 

instructions in each Part. Draw well-labelled 

diagrams wherever necessary. 

Part-1 

(PLANT DEVELOPMENT BIOLOGY) 

Note :Qi.estion No. 1 is compulsory. Attempt any 

four questions from Question No. 2 to 7. All 

question carry equal marks. 

1. (a) Fill in the blanks : 

(i) 	 of ovule undergoes meiotic 
division. 

(A-.),) P. T. 0. 
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(ii) Plant hormone 	 is responsible 

for phototropism. 

(b) Select the correct word : 	 2 

(i) Development of embryo without 

fertilization is called (parthenocarpy/ 

parthenogenesis). 

(ii) Fruit ripening is promoted by 

(Abscissic acid/Ethylene). 

(c) State whether the following statements are 

True or False : 	 1 

(i) Lenticels are formed by the vascular 

cambium. 

Endothecium is a layer of anther wall. 

2. Write short notes on any two of the 

following : 	 22x2=5 
2 

(a) Synergids 

(5) Self-pollination 

(c) Somatic embryogenesis 

(d) Abscission of leaves 

3. Define any five of the following technical terms : 
1 x 5 = 5 

(i) Short-day plants 

(ii) Annual rings 

(iii) Callus 

(A-38) 
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(iv) Endothelium 

(v) Geitonogamy 

(vi) Aril 

4. (a) What is apical dominance ? Discuss the 
applications of apical dominance in 
horticulture and agriculture. 	 4 

(b) What is Micropropagation ? 	 1 

5. (a) What is Sexual Incompatibility ? Discuss 
its biological significance. Describe one 
method to overcome incompatibility. 	3 

(b) What are the functions of endosperm ? 2 

6. (a) Where are the following located ? 	2 

(i) Egg cell 

Caruncle 

Pollenkit 

(iv) Polar nuclei 

(b) What are androgenic haploids ? What is 
their importance in agriculture ? 	3 

7. Differentiate between any two of the 
following : 	 2x2=5 

2 

(i) Heartwood and sap wood 

(ii) Root apex and shoot apex 

Gonial apospory and somatic apospory 

(iv) Vegetative cell and generative cell 

(A-38) P. T. 0. 
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Part—II 

(ANIMAL DEVELOPMENT BIOLOGY) 

Note : Question No. 8 is compulsory in Part H. 

Attempt any four questions from Question 

No. 9 to 14. 

	

8. Fill in the blanks : 	 1 x 5=5 

(i) The process of differentiation of 

spermatid 	into 	spermatozoa 	is 

called 	 

(ii) When the upper tier of blastomeres lie 

exactly over the corresponding lower tier 

of blastomeres the cleavage pattern is 

called 	 

(iii) The stimulation of population of cells to 

differentiate in a specific direction by 

another group 	of a cells is 

called 	 

(iv) The blastula of mammals which implants 

in 	the 	uterine 	wall 	is 

called 	 

(A-38) 
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(v) The unequal first meiotic division of the 

primary oocyte in the process of oogenesis 

results in the formation of a secondary 

oocyte and a 	body. 

9. With the help of a diagram, illustrate the 
stages in spermatogenesis. 	 5 

10. (i) Differentiate between holoblastic and 
meroblastic cleavages. 	 2 

(ii) What are fate maps ? Write any one 

method to construct a fate map. 	1+ 2 

11. Based on amount of yolk, what are the different 
types of eggs ? 	 5 

12. What are the different types of morphogenetic 
processes involved in the development of an 
organism ? 5 

13. Discuss the different stages of carcinogenesis. 5 

14. Write short notes on any two of the 
following : 	 2x2=5 

2 

(i) Neotany 
Epimorphic regeneration 

(iii) Regeneration in Hydra 
(iv) Extraembryonic membranes and their 

functions in humans 

(A-38) P. T. 0. 



[ 6 ] 	 LSE-06 

Ka. TT. t-06 

1 $101 izTFREE (IC 

tlf9gr 
2019 

(*et *gm) 

RM. R1T. t-06: 	Atat litr$T4 

: 2 Trot 	 arrw-Ar atw : 50 

*E" : WIT I * WTI H 	7-4z wirr-aRTT a--ef 

sfiawrail 41P3N1 3174 3 sic4cb MIT 

fkIT ►  31d471Y 	alpiT 4/Plito wer 

aficlqqa) 	1141/Pcbcr alitar gime 

(trrqtr xritak) 

nk.  : 5177 #. 1 arkerrif el 3749' zT 2 # 7 # 

Pb•611.  wrr Ar4 * 3" -a 411-01441 Trift 3 .7.4 
IPTI7 ft 

1. (w) fit wr4 m't tif4 ci;IrAq : 	 2 

(i) 	AN' i 	 11 alft-t 	 
*I t-dr 

(A-38) 



	

I 7  / 	 LSE-06 

(ii) 	 TRW 	 Irry 

"SIWRI-39-4A 	fi 

	

(a) *0 "RIK iar-R : 	 2 

(i) r-14 .1)11 	fOr UI vr **MO 

(airIZIWOW3if**-4-qq) ch6C1101 t I 

Niettitich aiRTAfirelff) "we trt1 
311204T 

ia4- 	lfrlfact Wssiff 1,164 Wird% qcuqt4 : 1 

arciv, Tian et 	Remi w-44 

(Jo t4.5 	vitrAiem wig) 	qi iita *1.  irw 

tro tl 

1;4-01 	 F41.4 .4 TR Titiew du4 

2-1 )(2=5 
2 

(A-38) P. T. 0. 



I 8 	 LSE-06 

3. rii-irofigd 4 A fah-it Tirw oavi 411 7r4 

4 	C4141 frig : 
lx5=5 

(i) STF1—f Selti 

(ii) (111`'4 omit( 

(iii) cit.( 

(iv) at:VR 

 

(v) 

(vi) a1s311)(1 

4. (W) IFETTU 3TI1TP4dT WIT * ? d>:11-( 	i 

qtic 	ardSTE011 	qviff VNRi 	4 

(110 VE4TEFFT449* Aza afgastrzi ? 	1 

5. (W) eViict3 alfillw:MT WIT * ? 	 a 	oirial 

	

1:16N 	 aTritlw4aT V 'WA 	'RW 

	

faig 	zirefff Vtr-4Rt 	 3 

(gr) TrEkEr 	Azrr mehl4 t ? 

6. (W) riiirortsid titc1-14 T "fteM t ? 
(i) 3in 	qichl 

(ii) •#4" 1 

(iii) mtvi coe 

(iv) -Rctl 

(A-38) 
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